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QUESTION 1

Which symconfigure option is used to make changes to the Symmetrix array? 

A. Commit 

B. Prepare 

C. Preview 

D. Enable 

Correct Answer: A 

 

QUESTION 2

A Symmetrix VMAX 20K customer is planning to use standard encapsulation to encapsulate LUNs from an external
array. What objects are created when using SYMCLI to perform the encapsulation? 

A. eDisk and Symmetrix device 

B. eDisk, data device and thin device 

C. eDisk and external disk group 

D. External disk group and Symmetrix device 

Correct Answer: A 

 

 

QUESTION 3

Which lock(s) will be in place when a device is being swapped by Optimizer on a Symmetrix VMAX array? 

A. Back-end device lock 

B. Configuration lock C. Front-end device and director locks 

D. Front-end device and back-end device locks 

Correct Answer: A 

 

QUESTION 4

Which component of the Symmetrix VMAX runs the scripts to change the configuration of an array? 

A. Symmetrix Service Processor 
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B. Global memory 

C. Back end adapters 

D. Front end adapters 

Correct Answer: A 

 

QUESTION 5

An SRDF/A session is active with Transmit Idle enabled. The device pairs are in a consistent state. 

What will happen if there is a temporary loss of all links? 

A. Cycle time will be elongated 

B. RTO will increase 

C. Devices will go into a "Synchronous" mode 

D. Devices will go into a "Partitioned" state 

Correct Answer: A 
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